KANHA MAKHAN PUBLIC SCHOOL

Imbortant Questiong (Lines and ﬂn‘gwa)

Sub = mam class = g

121T% +he

oOnge mark @u.«z&,tjo —

23T the 8iv&*n choq. / POR__and Y /
/. QOR_ Jrov"m 3 " limear  pair, /
T+ d-b = 80", Find Hm valuys P C
a S — o Uﬁﬁ ..
O(+ a ahd h e nd : v & » >
| | P . Q
33 || Ray OF b:s_oct% LAOB _dand OF

o ;
(S the T&HPM&LE;_QE_« < >
Showo that / FOB = ZF0oA m

421Th $ig. £ PQR = LPRQ , then 'P
provi that £ PQS& = L PRT. /7(\
TR R T
5= || hat wvalve of o eovld wm

3imn &iaum, it ZAOC =4X and £ BOC = x4+ 30° P

i 2

/

cx+30/
(X

N -—>
fB O H Page No. [:J



20 mark 'C}/uﬂ&ﬁong:—a |

C=21In cficcj‘. id AOB (s a lime, QP bisects ﬁRQ‘ /g
BOC and O® bisects L AOC ., Shou’ : \ / /?P'
that 2 POQ s 3 'riah{ ah(cjn.z-. (X1 \//
L A% o B
32T Fie. POQ is 3 ling. Ray OR R
: "() Q LS l J j@ R
i5 parpendicular to line PR . 05
I3 anather 'raé: lé):irg heta208m rag,s- \
_|lOP_and OR. Prave that, \
- ZRoOS = ¥ (OB I N ~
2 . i bk o Q‘
&> | Tt is givm thet £XYZ=64" and o Ag s
— A s, Jorodyced to Joint P.Araw . . oy /Qr
o+ ' ,kji(jmm Jrom' ths 8iv,cm' indor mation. A A
T3 yay YR bisects L ZYP, Find 1\ / .
BN, . . B i M b s
' XY®~ 3and redlex LQYP. (| . .
' R Od T S I
4= || T7n the 8'107) diqurs ABICH. T4 21= (120-2)°

J . N
and /.5 = 5a° dind  the measures od /1 dnd £S.

pt




102||Tm fia.  Find the valves oF 2 and (C)J and_ then

Shows ~ that  AB 11 C A

x

>

50'&\
—
o B

; { o \ o

. Be ¢
5\

12A
=

\
J

i

Three NMark Questiond.

=

112 || T diqure. i ABIICA . 2 APQR = 50" and / PRR =12%;

dind U.M and LR —— P

}
A 50 52 o
: i ¥
L. .
T e < B
122 | T the given dig ABILC A, Hetemime 23
Y -
o 5y >
O/ﬂii /
< \£Q42 | . :
< 38>\' e




132>

Im Ji&mu. ABNCA and EF Il QR . Boeterming / POR.

AEANS and / BEF. . 4\,3

C £ l
o - A
A E gl
143 Im Ji(gmﬁ,—«z AOC =7 ACO dnd Z BOS = £ BRO. Prove
+hat ACll ARB i £
A
% D

153

—_—

&:ﬂ Jlaurj, ’hﬂ’?ﬂ dnhd "E) chy o , o S o T }armce
that ¢

4

Four Mark ®uestions:

1d4= |“5, a‘i(c}:m:q, Showe that ABIEE
< |6)
A . 6. E > F
I
- %6 ~150
30°

il
C ﬁ Page No. :



In djg. , id PQUST, L PR = 110" and £ RST =130,

J
\:Fi'nd LQRS- !
S T

P AT ==

4 Q530
1107\ v
\ /

Vv

araliel to _2ach other. Parove <

K
1821 35! i X:C(JJ and d=h, prove that rim.
A "m T LB p
A
E
192 ||'rn Fiq. bisectors of GM  @nd f
d
HL od alterndte angles AGIH - o
and AHG ryespechvely are . GTL
X

that ABI1¢cA.

202

X

In a‘ia. m and n are two Pplane M
Mirrors herpendicular to ach other j o\i E

Prove that the incident *fag’(‘,ﬂ ,/ \

1S pdrallel to  redlected T3y BA. P \

AR IR R AR 2N

-~
~
—

\Qz
? ‘“

\
)



